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Unit 7 = Comparing Functions
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7.4 - Practice

Comparing Linear and Exponential Functions

1. The functions f(x) and g(x) are described below. Compare the rate of change and intercepts of

each.
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2. Two airplanes are in flight. The function f(x) = -100x + 3,350 represents the altitude, f(x), of one airplane
after x minutes. The graph below represents the altitude of the second airplane, g(x). Compare the
rate of change and intercepts of the functions.
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3. Compare the rate of change of each function.
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Determine if the following representations are linear or exponential, identify the
characteristics, and then write an equation.

S

g

TJ
\

6.

Kate startedwith 500
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{dinear or Exponential

ROC from [0,5]: _2_-__
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x-intercept: ('@10}
y-intercept: ‘( 0 |2_7
Equation: f(x) = y: %—XTZ

tkinean or Exponential

ROC from [0,4]:
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Equation: f(x) =

= 150X +600

Linear or EXpenential’
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Linear or EXponential

ROC from [0,2]:
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x-intercept: NOHQ
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Equation: f(x) = g: Z(LDX

Linear or EXponential”
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iLinear or Exponential

ROC from [2,5]: @
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